381/Eco. - UG/3rd Sem. /ECOH-CC-T-VII/19

U.G. 3rd Sem_esﬁer Examination - 2019

ECONOMICS
[HONOURS] -
Course Code : ECOH-CC-T-VII
Full M::_lrks : 60 B '_I‘nne, 22 Hours

The figures in the right-hand mar‘f:gin indicate marks.

Candidates are required to g:ve their answers in
their own words as far as prad;cable

J/ ~ Answer any ten questions: | - 2x10=20
- S e T e ¢ |
M/{ Deﬁne an 'independent event'.
5 A s ﬂ%@r-m u
' #)  Define 'Standard Normal Variable'.
e W 47 g & |

¢) IfX=a+by, St B(X)j=a+ bE(Y). |
i X = a+ bY 2, O orate WE(X) =a+ bE(Y).

d) What are the proper.ti.es- of a probability
distribution function F(X)?

AGIEA! IB SCATE F'(X).-aa TRl e
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State the “Weak Law of Large number®
“Weak Law of Large number’[ @2

What is the probability mass funciion of »

discrete random variable?

& ﬁﬁ‘ﬁ ARSI BT p.n.f, T w74
What is con31stent estimator?

RO AT IR T 2

What is meant by interval estimation of
Parameters?

Refemtot-a Ie% aligerata <eiee 6 i 2

Distinguish between population and sample
survey. |

mﬁﬁi@ﬂ“ﬁﬁﬁmaﬂm}?nWW|

What do you mean by 'Simple Random
Sampling'?

- HFS AR AAPRAT FIRICE I 2

Distinguish between Parameter and Statistic.
fRfosiel qaR SAfEmRUe-a3 S ANy 4 |

Explain the concept of Minimum Variance

Estimator.

S apae AFeTh-ad LIFeii Wi o1 |
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m) Distinguish between Standard Error and Standard
Deviation.

e @t qag @l Rprfe-ag s w1 31

\9/ State two limitations of classical definition of
Probability.

o TSRS el vieetE 6 it @14
%)  State the Central Limit Theorem.
@A e e
J Answer any four questions: 5%4=20
- B e Bt ¢
_af A and A, are two events related with an

| 1 i
experiment. Given P(Al)=5, P(A2)=§ and

1
1 determine the following
Probabilities.

< s R 1 A WA A, 9 A, |

P(A,NA,)=

| . I - 1 ]
afit P(A,)=7 > P(A,)=7 9 P(A,NA)=7 T
i) PAVA,) Y

i) P(ACUAS) 74
i) P(ASUA,) 4 | [+1+3
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Distinguish between simple random sampling
with replacement and simple random sampling

without replacement with an example.

i1l et TETE F] FR2AR @ ST 717 e
SRTGS 3= ARETER NC& CHIZI SRS 712l 777 |

State and prpv_i‘e’ Ba)}es' theorem of Probability.

Bayes -9 T ot Ko R &ie |

- Find the mean and variance of Binomial

distribution. -
ol TS 91T @ Comalle el 31|
Discuss the different properties of a good

estimator.

3T Te ARpreT-aF Rifen tafgr e et 51|

In case of SRSWR find E(X) and V(X)if X is a

random variable. 2+3
SRSWR-«% C57(a Tt X i TS Imi=fl 5o7 25
o E(X) 9k V(X) e w411
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E/ Answer any (wo questions: . 10%x2=20

@I 6 Acq S nie ¢

Define a Normal variable and discuss the
important properties of a Normal distribution.
2+8

@36 Normal &7 %@l wie a2 Normal
e el wiafle SieEma $41

The ‘_l'ilfe (in hours) of electronic tubes of a
certain type is supposed to be normally
distributed with- u=155 hr, 0=19hr. What is the
probability that the life of a tube will be:

G LA (@fod AT 51T oIy 155 I01(98) O
CSHAI 9 W2 A WY T [ed SpiRel 67,

R e Fdw 93

i)  between 136 hr. and 174 hr.
RIGERCLE 136 ‘EI;‘: 174 <2 N
ii) betl\.:vee_n _1_17 hr. and 193 hr.
| qETE S 117 92 193 X2 S
iii) less than 117 hr.
CIGERCIEES SWAH
iv) more than 193 hr.
T Y >193 W8
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probabilities that: 5
3 AT 4P ae, 3 P @ 5 i < B
T 3o, 957 o7 96 SRR I Qe (1S
"@lWﬁWWW@WWﬁq‘

Discuss the Problem of Estirnation. Explain the
difference between point estimation and intervs ]

-
2

estimation.

oiRmIsiced ST SNGEva | ’Fg, Sl o

L R “ARICea e ~ieke T

A box contains 4 red balts, 3 black balls and 3

white balls. Two balls are drawn one after the

[y

other at random with replacement. Find the

L

i) - both the balls are red; -
E’%Wﬁﬂﬁ, -

ii) one is red and one white.

- @@ o @R @ A




